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g_` : hmoamÌ`_²    nyUm©‘>m… : 100 
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 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >18 àíZ h¢ & 
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{ZX}em…  : 

g‘>oVm^mdo gd}fm§ àíZmZm_wÎmam{U, g§ñH¥$VoZ¡d boIZr`m{Z & 

Ohm± ñnï> g§Ho$V Zht h¢, dhm± CÎma g§ñH¥$V _| hr Xr{OE & 

Answer the questions in Sanskrit only unless stated otherwise. 

 

 

 

Apñ_Z² àíZnÌo MËdma… IÊS>m… gpÝV & 

Bg àíZ-nÌ _| Mma IÊS> h¢ & 

There are four sections in this question paper. 

 

IÊS>… H$ An{R>Vm§e  Ad~moYZ_² (An{R>Vm§e  Ad~moYZ)   10 A‘>m… 

SECTION A (Unseen Reading Comprehension) 

IÊS>… I g§ñH¥$VoZ aMZmË_H$H$m`©_² (g§ñH¥$V aMZmË_H$ H$m`©)  15 A‘>m… 

SECTION B (Sanskrit Writing Skills) 

IÊS>… J AZwà`wŠVì`mH$aU_² (AZwà`wŠV$ ì`mH$aU) 30 A‘>m…   

SECTION C (Applied Grammar) 

IÊS>… K ^mJ I – n{R>Vm§e  Ad~moYZ_² (n{R>Vm§e  Ad~moYZ) 35 A‘>m… 

SECTION D PART I – Reading Comprehension 

  ^mJ II –  gm_mÝ`… g§ñH¥$Vgm{hË`n[aM`… 

         (gm_mÝ` g§ñH¥$V gm{hË` n[aM`) 10 A‘>m…   

  PART  II – General Introduction to Sanskrit Literature 
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IÊS…> H$ (SECTION A) 

An{R>Vm§e  Ad~moYZ_²  

An{R>Vm§e  Ad~moYZ 
 Unseen Reading Comprehension             10 A‘>m… 

1. AYmo{b{IV§ JÚm§e§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 
 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following passage and answer the given questions in Sanskrit. 

   
                Añ‘mH§$ OrdZo nXo-nXo àË¶oH§$ H$m¶}fw {dkmZ§ ì¶mßV‘pñV & {dkmZñ¶ M‘ËH$mamZ ² 

ÑîQ>²dm d¶_ ² AmíM¶ª Hw$‘©: & AÚ gd}fw joÌofw Ed {dkmZñ¶ bm^m: Ñí¶ÝVo & AÚ d¶§ 
aob`mZoZ XoeXoemÝVaofw n[a «̂‘m‘: & nmoVoZ AZm¶mg§ ZXt g‘wÐm§íM Vam‘: & {d‘mZoZ AmH$meo  
ñdÀN>ÝX§ {dham‘: & AÚ Vw ‘amHo$Q>’ B{V ¶ÝÌoU Vw MÝÐ‘{g A{n ^«‘Um¶ à¶ËZ§ Hw$‘ ©: & 
‘‘moQ>a-~g-H$ma-ñHy$Q>a’ BË¶m{X{^: ¶mZ¡: Vw d¶§ à{V{XZ§ à{VjU§ M J‘ZmJ‘Z§ Hw$‘©: & AÚ 
Añ‘mH§$ OrdZo {dÚwV: Cn¶moJ: Vw gd©Ì Ñí¶Vo & amÌrUm§ AÝYH$mao {dÚwÔrnH§$ à‚dmë¶ gd©Ì 
àH$me§ Hw$‘©: & {dÚwV: à^mdoU ì¶OZm{Z MbpÝV, amo‘mÄMH$m[a{U XméUo@{n {e{eao e¡Ë¶^¶§ 
Z ^d{V & CÚmoJjoÌofw {dÚwV: e³Ë¶m ‘wÐU¶ÝÌm{U, AZoH$m{Z bm¡h‘¶m{Z ¶ÝÌmonH$aUm{Z 
MbpÝV; V¡íM: ZdrZm{Z dñVy{Z {Z‘u¶ÝVo & gË¶‘od AYwZm d¡km{ZH$mVm‘² Am{dîH$mam: 
M‘ËH$manyUm©: Ed & 

àíZm… 
(A) EH$nXoZ CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 
 EH$ eãX _| CÎma Xr{OE & (Ho$db Mma àíZ) 
 Answer in one word. (Only four questions)  

2

1
 4=2 

(i) Añ‘mH§$ OrdZo nXo-nXo qH$ ì¶mßV‘pñV ? 
(ii) {dkmZñ¶ H$mZ² ÑîQ²>dm d¶‘² AmíM¶ª Hw$‘©: ? 
(iii) d¶§ Ho$Z XoeXoemÝVaofw n[a^«‘m‘: ? 
(iv) Ho$Z AmH$meo ñdÀN>ÝX§ {dham‘: ? 

(v) AÚ Añ‘mH§$ OrdZo H$ñ¶ Cn¶moJ: gd©Ì X¥í¶Vo ? 

(~) nyU©dmŠ` oZ CÎmaV & (Ho$db§  àíZÛ`_²) 
 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in a complete sentence. (Only two questions) 2 2=4 

(i) {dÚwV: à^mdoU qH$ qH$ ^d{V ? 
(ii) d¶‘² nmoVoZ H$mZ² Vam‘: ? 

(iii) CÚmoJjoÌ ofw {dÚwV: e³Ë¶m {H$‘² ^d{V ? 
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(g) `Wm{ZX}e_² CÎmaV & (Ho$db§  àíZMVwîQ>`_²) 
 {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ)  
 Answer as directed. (Only four questions)  

2

1
 4=2 

(i) ‘‘Adbmo³¶’’ B{V nXñ¶ ñWmZo qH$ g‘mZmW©H§$ nX§ à¶wº$‘² ?  
(ii) ‘‘Am{dîH$mam:’’ B{V nXñ¶ qH$ {deofUnX§ à¶wº$‘² ? 

(iii) ‘‘àmMrZm{Z’’ B{V nXñ¶ qH$ {dnarVnX‘² AÌ à¶wº$‘² ? 

(iv) ‘‘n[a^«‘m‘:’’ B{V {H«$¶mnXñ¶ qH$ H$V¥©nX§ à¶wº$‘² ? 
(v) ‘V¡íM ZdrZm{Z dñVy{Z {Z‘u¶ÝVo’ AÌ dm³¶o ‘V¡:’ B{V gd©Zm‘nX§ Ho$ä¶: 

à¶wº$‘² ? 

(X) Añ` AZwÀN>oXñ` H¥$Vo g_w{MV§ erf©H§$ g§ñH¥$VoZ {bIV & 
 Bg AZwÀN>oX Ho$ {bE Cn ẁŠV erf©H$ g§ñH¥$V _| {b{IE & 
 Write a suitable title for this passage in Sanskrit. 2 

IÊS…> I (SECTION B)  
g§ñH¥$VoZ aMZmË_H$H$m`©_² 
g§ñH¥$V aMZmË_H$ H$m`© 

 Sanskrit Writing Skills 15 A‘>m… 
2. N>mÌd¥{Îm - àmßË¶Wª àmMm¶ª à{V {b{IVo AmdoXZnÌo ‘ÄOyfmàXÎmeãX¡: [aº$ñWmZm{Z nya{¶Ëdm 

nÌ§ nwZ: {bIV & 
  N>mÌd¥{Îm àmßV H$aZo Ho$ {bE àmMm¶© H$mo {bIo JE AmdoXZ nÌ ‘| [aº$ ñWmZm| H$s ‘ÄOyfm ‘| 

{XE JE eãXm| go ny{V© H$a nÌ H$mo nwZ: {b{IE & 
 Fill in the blanks in the application letter written to the Principal for 

awarding scholarship, with the help of the words given in the box and 

rewrite it.   
2

1
 10=5 

(i) _______  
 lr‘ÝV: àmMm¶©‘hmoX¶m:, 
 amOH$s¶gdm}X¶{dÚmb¶:  
 {X„r 
(ii) _______,  
 g{dZ¶§ {ZdoXZ‘pñV ¶V² (iii) _______ AÌ ^dVm§ {dÚmb¶ñ¶ ÛmXeH$jm¶m: N>mÌ: 
Apñ‘ & ‘‘ {nVm {Xì¶m“: ApñV, ¶oZ H$maUoZ Agm¡ H$m¶©H$aUo gd©Wm (iv) _______ & ‘‘ 
‘mVm AÝ¶ofm§ J¥hm{U (v) _______ nmÌgå‘mO©Z§ H$amo{V & BËW§ H$m{R>Ý¶oZ M à{V‘mg§ {Ûghò§ 
éß¶H$m{U àmßZmo{V & AV: ‘‘ {dZ‘«m (vi) _______ ApñV ¶V² ^dÝV: (vii) _______ 

H$m‘{n N>mÌd¥qÎm àXm¶ ‘‘ ghm¶Vm§ (viii) _______ & ¶oZ ‘‘ AÜ¶¶Z§ gwMmé àMboV² & 
(ix) _______ & 
^dVm§ ñZohm{^bmfr 
(x) _______ 
         H$jm ÛmXe ‘E’ 
{XZm‘>: _______  

_ÄOyfm 

 
JËdm, àmW©Zm, godm¶m‘², ‘hmoX¶m:, Ah‘², Hw$¶w©:, àXrn:, Ag‘W©:, YÝ¶dmXm:, ‘h²¶‘² & 
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3. _ÄOyfm`m§ àXÎmeãXmZm§ ghm`V`m AYmo{b{IVm`m§ bKwH$Wm`m§ [aŠVñWmZm{Z nya{`Ëdm H$Wm§ 
nwZ… {bIV & 

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go {ZåZ{b{IV bKwH$Wm _| [aº$ ñWmZm| H$s ny{V© H$a 
H$Wm H$mo nwZ… {b{IE & 

 Fill in the blanks in the following short story with the help of the words 

given in the box below and rewrite the same. 
2

1
 10=5 

  
       EH$ñ¶ lo{îR>Z: (i) _______ nwÌm: AmgZ² & Vo MËdmamo@{n ^«mVa: nañna§ (ii) _______ 

Hw$d©pÝV ñ‘ & Vofm§ MVwUmª H$bh§ ÑîQ²>dm g: (iii) _______ Xþ:Ir ^d{V ñ‘ & EH$Xm g: 
ewîH$H$mîR>m{Z EH$ÌrH¥$Ë¶ Vm{Z (iv) _______ ~X²Üdm nwÌmUm§ g‘j‘² AñWmn¶V² & VmZ² 
nwÌmZ² AdXV² M ‘EVm{Z H$mîR>m{Z ÌmoQ>¶V’ & nwÌofw EH$mo@{n ~X²Ym{Z Vm{Z H$mîR>m{Z  
(v) ______ g‘W©: Zm^dV² & VXm g: n¥W³H¥$Ë¶ H$mîR>m{Z nwÌmUm§ g‘j§ nwZ: (vi) ______ & 
gd} nwÌm: (vii) _______ gdm©{U H$mîR>m{Z AÌmoQ>¶Z² & g: (viii) _______ AH$W¶V² – 

BËW‘od ¶y¶‘{n MoV² nañna§ {‘{bËdm (ix) _______ V{h© H$mo@{n ¶wî‘mH§$ hmqZ H$Vwª g‘W ©: Z 
^{dî¶{V & ¶Vmo {h (x) _______ e{º$: H$bm¡ ¶wJo & 

_ÄOyfm 

 

4. ‘‘gy`m©oX`:’’ AWdm ‘‘^maVr¶m g§ñH¥${V:’’ B{V {df`_{YH¥$Ë` nÄMdm³¶{‘V‘² EH$‘² 
AZwÀN>oX§ {bIV & (‘ÄOyfm àXÎmnXmZm§ ghm¶Vm Ano{jVm MoV² J¥hrVì¶m AÝ¶Wm ñd¶§ 
ñdVÝÌê$noU bo{IVì¶‘² &) 

 ‘‘gy`m©oX`’’ AWdm ‘‘^maVr¶ g§ñH¥${V:’’ {df` na AmYm[aV nm±M g§ñH¥$V dmŠ`m| _| EH$ 
AZwÀN>oX {b{IE & (‘ÄOyfm ‘| {XE JE nXm| H$s ghm¶Vm bo gH$Vo h¢, AÝ¶Wm ñdV§Ì ê$n go 
BpÀN>V {df¶ na dm³¶ aMZm H$s{OE &) 

 Write passage on ‘‘Suryodaya’’ or ‘‘Bhartiya Sanskriti’’ with five 

sentences in Sanskrit. (Take the help of the words as given in the box if 

you desire.) 1 5=5 

_ÄOyfm 

 
AWdm 

 

g§ñH¥${V: g§ñH¥$Vm, Añ‘mH$‘², AmXem© ^maVr¶m, dgwY¡d Hw$Qw>å~H$‘², gd} ^dÝVw gw{IZ:, 
Aqhgm na_mo Y‘©:, namonH$ma:, ‘mVm-{nÌmo: AmkmnmbZ‘², AmMm¶© Xodmo ^d, A{V{W godm, 
{d{dY-ndm©{U, CËgdm, gm‘m{OH$ {MÝVZ‘², Zmar-gå‘mZ‘², ^maVr¶g§ñH¥$Vo: & 

àH$me:, nyd©ñ¶m‘², Aé{U‘m, {X{e, IJm:, d¥jofw, H$bad §, ^º$m:, H¥$fH$m:, CÚmZ‘², 
~mbm:, ì¶m¶m‘‘², joÌ§, Xodmb¶‘², Hw$d©pÝV, ^«‘UmW©‘², gd}, H$m¶}, Abgm:, g§b¾m:, 
gwßVm:, BXmZr‘{n & 

loîR>r, MËdma:, H$bh‘², ÌmoQ>{¶Vw§, {ZdËñ¶W, AñWmn¶V², aÁÁdm, nwÌmZ², gabV¶m, g§Ko 
& 
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IÊS…> J (SECTION C) 
AZwà`wŠVì`mH$aU_² 
AZwà`wŠV ì`mH$aU 

 Applied Grammar 30 A‘>m… 

5. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ gpÝYÀN>oX§ Hw$éV & (Ho$db§  àíZfQ>²H$_²) 
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| H$m gpÝY-{dÀN>oX H$s{OE & (Ho$db N>h àíZ) 

 Disjoin Sandhis in the underlined words of the following sentences.  

                                                                                      (Only six questions) 1 6=6  

(i) g: Johm{ÞîH«$mÝV: ApñV & 

(ii) BZíM {XZñ¶ & 

(iii) àmgmXm{YH¥$Vm: nwéfm: & 

(iv) Aeº¡$~©{bZ: amÌmo: & 

(v) {MÌo@pñ‘Z² ZXr Ñí¶Vo & 

(vi) AÚ _‘mondmg: ApñV & 

(vii) ‘‘ Amkm¶m: C„L²>>KZ‘² H$W‘² ? 

6. AYmo{b{IVdmŠ`ofw aoIm{‘>V-g_ñVnXmZm§ {dJ«h§ Hw$éV & (Ho$db§  àíZfQ²>H$_²) 

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V g_ñV-nXm| Ho$ {dJ«h {b{IE & (Ho$db N>: àíZ) 
 Expound the underlined words of the following sentences.  

                                                                                     (Only six questions) 1 6=6  

(i) Aqhg`m ^yVmË_m & 

(ii) ¶WmÝYH$mam{Xd XrnXe©Z‘² & 

(iii) AhmoamÌ‘² godm‘ho & 

(iv) ‘yT>{Y¶: nam{OVm: ^dpÝV & 

(v) ZrbmH$me: N>ÌdV² àVr¶Vo & 

(vi) gd} ¶WmñWmZ‘² Cn{depÝV & 

(vii) nwamVÎdÑîQ>çm gßVXe eVmãXr A{n ‘hÎdnyUm© & 
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7. AYmo{b{IVofw dmŠ`ofw H$moîR>H$mÝVJ©V-àH¥${V-àË` §̀ M `moO{`Ëdm [aŠVñWmZm{Z nya`V &  
                                                                  (Ho$db§ àíZmîQ>H$_²) 

 {ZåZ{b{IV dmŠ`m| _| H$moîR>H$ Ho$ AÝVJ©V Xr JB© àH¥${V Ho$ gmW {Z{X©îQ> àË`` H$mo Omo‹S>H$a 
[aŠV ñWmZm| H$s ny{V© H$s{OE & (Ho$db AmR>  àíZ) 

 Fill in the blanks in the following sentences by adding suffixes to the 

roots and words given in the brackets. (Only eight questions) 1 8=8  

(i) C{ÎmîR>V OmJ«V ___________ damZ² {Z~moYV & (à + Amn² + ë¶n²) 

(ii) doXm: Añ¶¡d ___________ & (dÝX² + B{Z) 

(iii) MÝÐJwßV: Hw$gw‘nwa‘² ___________ BÀN>{V & (Ad + bmoH²$ + Vw‘wZ²) 

(iv) Aeº¡$: ~{bZ: eÌmo: ___________ ànbm¶Z‘² & (H¥$ + Vì¶V²) 

(v) ‘R>mZm§ ___________ àojH$mZ² AmH$f©{V & ({demb + Vb²) 

(vi) ___________ M XÎm§ M gX¡d {VîR>{V & (hþ + º$) 

(vii) MméXÎm: ___________ ApñV & (ê$n + ‘Vwn²) 

(viii) {dÚmb¶ñ¶ gyMZmnÅ>o ___________ ApñV & ({d + km + {º$Z²) 

(ix) Jwamo: Amkm ___________ & (nmb² + AZr¶a²) 

8. AYmo{b{IVofw dmŠ`ofw H$V©¥{H«$`mnX`mo: ApÝdqV Hw$éV & 
 {ZåZ{b{IV dmŠ`m| _| H$Vm© Ed§ {H«$`m nXm| H$s ApÝd{V H$s{OE & 

 Write the suitable verbs according to the subject in the following 

sentences. 1 5=5  

(i) EVo __________ AVrd emo^ÝVo & ({J[a:/{Ja¶:) 

(ii) __________ Vo ‘yT>{Y¶: nam^d‘² & (d«OpÝV/d«O{V) 

(iii) Ah§ Joh§ JËdm __________ & (OmZr‘:/OmZm{‘) 

(iv) __________ CËgmhdY©Z§ Hw$d©ÝVw & (¶y¶‘²/^dÝV:) 

(v) H$ÄMwH$s ‘ÄMo __________ & (à{de{g/à{de{V) 

AWdm (OR) 
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 AYmo{b{IVofw dmŠ`ofw {deoî`¡… gh _ÄOyfm`m… {deofUnXm{Z `moO`V & 

 {ZåZ{b{IV dmŠ`m| _| {deoî`m| Ho$ gmW _ÄOyfm go {deofU nXm| H$mo Omo{‹S>E & 

 Add the appropriate adjectives from the box with the qualifying nouns in 

the following sentences. 1 5=5  

(i) dmH²$ MVwWu M __________ & 

(ii) Ah‘² __________ Hw$gw‘nwa‘² AdbmoH${¶Vw‘² BÀN>m{‘ & 

(iii) OrdZo __________ H$îQ>m{Z AmnVpÝV & 

(iv) __________ OZ¡: amOm V¥UdX² JÊ¶Vo & 

(v) __________ nd©VmZm§ emo^m AVwbZr¶m & 

                     _ÄOyfm                           

 

9. AYmo{b{IVofw dmŠ`ofw H$moîR>H$àXÎmeãX¡: gh Cn ẁŠVm§ {d^{Š§V à ẁÁ` [aŠVñWmZm{Z nya`V &  

                                                                (Ho$db§  àíZnÄMH$_²) 

 {ZåZ{b{IV dmŠ`m| _| H$moîR>H$ _| {XE JE eãXm| go Cn ẁº$ {d^{º$ H$m à`moJ H$a [aº$ 

ñWmZm| H$s ny{V© H$s{OE & (Ho$db nm±M  àíZ) 

 Fill in the blanks using appropriate case-endings with the words given in 

the brackets in the following sentences. (Only five questions) 1 5=5  

(i) H$W§ ñnY©Vo __________ gh amjg: & (Añ‘X²) 

(ii) Z‘: __________ & (AmMm¶©) 

(iii) Ah‘² __________ Xÿa‘² Amamoß¶ nm{VV: Apñ‘ & (nd©V) 

(iv) Ab‘² __________ & ({dZ¶) 

(v) OrdZo __________ {dZm gm’$ë¶§ Z bä¶Vo & (XÿaÑpîQ>) 

(vi) Z __________ AÝVam MmU³¶: ñdßZo@{n MoîQ>Vo & (à¶moOZ) 

A{Va‘Ur¶‘², EVmÑe¡:, AZoH$m{Z, gyZ¥Vm, {h‘mÀN>m{XVmZm‘² & 
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IÊS…> K (SECTION D) 
^mJ I 

(PART I) 
n{R>Vm§e  Ad~moYZ_² 
n{R>Vm§e  Ad~moYZ 

 Reading Comprehension 35 A‘>m… 

10. AYmo{b{IV§ JÚm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a CZ na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following prose passage and answer the questions based on 
them in Sanskrit. 5 

  
 H$pñ‘p̈íMV² Obme¶o AZmJV{dYmVm àË¶wËnÞ‘{V: ¶X² ^{dî¶íM B{V Ì¶mo ‘Ëñ¶m: 

à{VdgpÝV ñ‘ & AW H$Xm{MV² V§ Obme¶§ ÑîQ²>dm JÀN>X²{^©: ‘Ëñ¶Or{d{^: Cº$‘² – ‘‘Ahmo 
~hþ‘Ëñ¶mo@¶§ öX: H$Xm{n Z Añ_m{^: AÝdo{fV: & AÚ Vw Amhmad¥{Îm: gÄOmVm & 
g§Ü¶mg‘¶: A{n g§d¥Îm: & VV: à^mVo@Ì AmJÝVì¶‘²’’ B{V {ZíM¶: &  

       Vofm§ VËHw${benmVmon_§ dM: g‘mH$Ê¶© AZmJV{dYmVm gdm©Z² ‘Ëñ¶mZ² Amhÿ¶ BX‘² 
AdXV² – Ahmo ! lwV§ ^d{X²^: ¶V² ‘Ëñ¶Or{d{^: A{^{hV‘² ? VX² amÌmd{n Jå¶Vm§ {H${ÄMV² 
{ZH$Q>§ ga: & 

 àíZm… 
(A) EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1
 2=1 

(i) Obme¶o H${V ‘Ëñ¶m: à{VdgpÝV ñ‘ ?  
(ii) ‘Ëñ¶Or{dZm§ dM: H$sÑe‘² AmgrV² ? 

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 
  nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 
  Answer in a complete sentence. (Only one question) 2 1=2 

(i) Obme¶§ ÑîQ²>dm ‘Ëñ¶Or{d{^: {H$‘² Cº$‘² ? 
(ii) AZmJV{dYmVm ‘Ëñ¶mZ² {H$‘² AdXV² ? 

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 
  {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ) 
  Answer as directed. (Only four questions) 

2

1
 4=2 

(i) ‘‘‘Ëñ¶Or{d{^:’’ B{V nXm¶ qH$ {deofUnX‘² AÌ à¶wº$‘² ?  
(ii) ‘àmV:H$mb:’ B{V nXm¶ qH$ {dbmo‘nX‘² AÌ à¶wº$‘² ? 
(iii) ‘Adbmo³¶’ B{V nXm¶ g‘mZmW©H$nX§ qH$ à¶wº$‘² ? 

(iv) ‘AZmJV{dYmVm’ B{VH$V©¥nXm¶ qH$ {H«$¶mnX‘² AÌ à¶wº$‘² ? 
(v) ‘lwV§ ^dX²{^:’ B{V dm³¶o ‘^dX²{^:’ B{V gd©Zm‘nX§ H o$ä¶: à¶wº$‘² ? 
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11. AYmo{b{IV§ nÚm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 

 {ZåZ{b{IV nÚm§e H$mo n‹T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 
 Read the following verse and answer the questions based on them in 

Sanskrit. 5  

 

bmo^íMoX² JwUoZ qH$ {newZVm, ¶ÚpñV qH$ nmVH¡$:, 

gË¶§ MoÎmngm M qH$ ew{M‘Zmo ¶ÚpñV VrW}Z {H$‘² & 

gm¡OÝ¶§ ¶{X qH$ JwU¡:, gw‘{h‘m ¶ÚpñV qH$ ‘ÊS>Z¡:, 

g{ÛÚm ¶{X qH$ KZ¡an¶emo, ¶ÚpñV qH$ ‘¥Ë¶wZm && 

àíZm… 

(A) EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1
 2=1 

(i) gX²{dÚm ApñV MoV² V{h© H$ñ¶ Amdí¶H$Vm ZmpñV ? 

(ii) ¶{X ‘Z: ew{M VXm Hw$Ì Z JÝVì¶‘² ? 

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

  nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 
  Answer in a complete sentence. (Only one question) 2 1=2 

(i) ‘Zwî¶ñ¶ AÝ¶JwUmnoj¶m loîR>: JwU: H$: ? 

(ii) gdm©{YH§$ nmnH$‘© AÌ qH$ H${WV‘² ? 

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 

  {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ) 
  Answer as directed. (Only four questions) 

2

1
 4=2 

(i) ‘gw‘{h‘m ¶ÚpñV qH$ ‘ÊS>Z¡:’ AÌ {H«$¶mnX§ {H$‘² ? 

(ii) ‘nmn¡:’ BË¶ñ¶ g‘mZmW©H§$ nX§ qH$ à¶wº$‘² ? 

(iii) ‘¶e:’ B{V nXñ¶ {dbmo‘nX§ qH$ à¶wº$‘² ? 

(iv) ‘n{dÌ‘²’ BË¶W} qH$ nX§ à¶wº$‘² ? 

(v) ‘ew{M ‘Z:’ AÌ {deofUnX§ {H$‘² ApñV ?  
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12. AYmo{b{IV§ ZmQ>çm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZåZ{b{IV ZmQ>çm§e H$mo n‹T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following drama passage and answer the questions based on 

them in Sanskrit. 5 

  AÝ¶‘Ý¶§ {Z‘ÝÌ¶Vw ^dmZ² & Zmh§ VmdV² X[aÐ: & (VV: à{de{V {dXÿfH$:) 
{dXÿfH$: – ZZw ^Um{‘, AÝ¶‘Ý¶§ {Z‘ÝÌ¶Vw ^dmZ² & qH$ ^U{g – ‘‘gånÞ‘² AeZ‘² 

A{eVì¶§ ^{dî¶Vr{V’’ ^Um{‘, H$m¶m©ÝVao ì¶ñV: & AWdm ‘¶m{n ‘¡Ìo¶oU 
nañ¶ Am‘ÝÌUH$m{Z A{^bfUr¶m{Z & ¶mo@h§ VÌ ^dV: MméXÎmñ¶ 
Joho@hmoamÌ‘² AmH$ÊR>‘² A{eËdm {XdgmZ² AZ¶‘² & AV: Vñ¶ Amdmg‘od 
JÀN>m{‘ &  

MméXÎm: – (XrKª {Z:ídñ¶) ^mo: Xm[aÐ¶§ Ibw Zm‘ ‘ZpñdZ: nwéfñ¶ gmoÀN²>dmg§ ‘aU‘² & 

{dXÿfH$: – Ab‘² BXmZt ^dmZ² A{V‘mÌ§ gÝVßVw‘² &  
  XmZoZ {dnÞ{d^dñ¶, ~hþbnjMÝÐñ¶ Á¶moËñZmn[aj¶ Bd ^dV: a‘Ur¶mo@¶§ 

X[aÐ^md: & 
àíZm… 

(A) EH$nXoZ CÎmaV & 
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1
 2=1 

(i) ‘AÝ¶‘Ý¶§ {Z‘ÝÌ¶Vw’ B{V H$: H$W¶{V ? 

(ii) {dXÿfH$: AhmoamÌ‘² AmH$ÊR>‘² A{eËdm H$mZ² AZ¶V² ? 

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 
  nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 
  Answer in a complete sentence. (Only one question) 2 1=2 

(i) MméXÎm: XrKª {Z:ídñ¶ qH$ H$W¶{V ? 

(ii) MméXÎmñ¶ X[aÐ^md: H$W§ a‘Ur¶: ^m{V ? 

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²)  
  {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ) 
  Answer as directed. (Only four questions) 

2

1
 4=2 

(i) ‘gånÞ‘² AeZ‘²’ AÌ {deoî¶nX§ {H$‘pñV ? 
(ii) ‘J¥ho’ B{V nXñ¶ ñWmZo g‘mZmW©H$nX§ qH$ à¶wº$‘² ? 

(iii) ‘Vñ¶ Amdmg‘od JÀN>m{‘’ AÌ Vñ¶ gd©Zm‘nX§ H$ñ‘¡ à¶wº$‘² ? 

(iv) ‘H¥$îUnjñ¶:’ B{V nXñ¶ qH$ {dbmo‘nX‘² AÌ à¶wº$‘² ? 

(v) ‘à{de{V’ B{V {H«$¶mnXñ¶ H$V©¥nX§ qH$ à¶wº$‘² ? 
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13. `Wm{ZX}e_² àíZÛ`_² CÎmaV & 

 {ZX}emZwgma XmoZm| àíZm| Ho$ CÎma Xr{OE & 
 Answer both the questions as directed. 2+2=4  

(A) ‘XmZ§ lo¶ñH$a‘² B{V àË¶¶mXod ‘‘mWm©: jrUm: OmVm’ B{V dm³¶§ H$ñ‘mV² J«ÝWmV² 
J¥hrV‘² ? H$íM Añ¶ boIH$: ? 

(~) ‘Am¶© ! AmMm¶©MmU³¶§ ÐîQw>‘ ² BÀN>m{‘ &’ B{V dm³¶§ H$: H§$ à{V H$W¶{V ? 

AWdm 

(A) ‘A¶‘od dmga§ ÛmXegw ^mJofw {d^Z{º$ &’ B{V dm³¶§ H$ñ‘mV² J«ÝWmV² J¥hrV‘² ? H$íM 
Añ¶ boIH$: ? 

(~) ‘Z {Zîà¶moOZ§ à^w{^: Amhÿ¶ÝVo A{YH$m[aU:’ B{V dm³¶§ H$: H§$ à{V H$W¶{V ? 

14. àË`oH$_² A§eñ` àXÎm-^mdmW©-Ì`mV² ewÕ§ ^mdmWª {MËdm {bIV & 

 àË`oH$ A§e Ho$ {bE {XE JE VrZ ^mdmWm] _| go ewÕ ^mdmW© H$m M`Z H$aHo$ {b{IE & 
 Pick out and write the correct one out of the three explanations given for 

each of the following lines. 2+2=4  

(A) ‘‘Ef: ^JdmZ² Adbå~: amobå~H$Xå~ñ¶ &’’ 

 ^mdmWm©: 

(i) gy¶m}X¶o H$Xå~d¥jm: nwpînVm: Om¶ÝVo & 
(ii) ^JdmZ² gy¶©: àmV: AmH$memV² bå~Vo & 
(iii) gy¶m}X¶o ¶Xm H$‘bm{Z {dH$gpÝV VXm Vofw amÌm¡ éÕm: ^«‘am: ‘wº$m: ^dpÝV & 

(~) ‘‘Ah§ nd ©VmV² Xÿa‘mamoß¶ nm{VVmo@pñ‘ &’’ 

 ^mdmWm©: 

(i) Ah§ nd©V§ Xÿa§ ¶mdV² Améø nmn§ H¥$VdmZ² Apñ‘ & 
(ii) nd©VmV² n{VV: Ah§ Xÿa§ JÀN>m{‘ & 

(iii) àW‘§ Ëd¶m ‘^moOZm¶ gd©‘² ApñV’ B{V H$W{¶Ëdm ‘‘ ~w^wjmemÝVo: Amem 

g§d{Y©Vm, naÝVw gmåàV‘² ‘AmnUo gd©‘² ApñV’ B{V H$W{¶Ëdm ‘‘ Amem 
{^Þm & 

AWdm (OR) 
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AYmo{b{IVñ` nÚñ` àXÎm§ ^mdmWª _ÄOyfmàXÎmnX¡: nya{`Ëdm nwZ: {bIV & 

 {ZåZ{b{IV nÚ Ho$ {bE {XE JE ^mdmW© H$mo _ÄOyfm _| {XE JE nXm| go nyU© H$a nwZ:  
{b{IE &  

 Complete the central idea of the given verse with the words given in the 

box below and rewrite the same. 
2

1
 8=4 

‘‘gwI§ {h Xþ:ImÝ¶Zw^y¶ emo^Vo, 
  ¶WmÝYH$mam{Xd XrnXe©Z‘² & 
gwImÝVw ¶mo ¶m{V Xem§ X[aÐVm§ 
 pñWV: earaoU ‘¥V: g Ord{V &&’ 

 ^mdmW©… 

 MméXÎm:, ñdX[aÐVmOÝ¶§ H$îQ>§ àH$Q>¶Z² H$W¶{V ¶V² {‘Ì & gwI§ Vw VXod emo^Vo ¶V² 
(i) _________ AZw^y¶ b^Vo & ¶Wm (ii) _________ ÑîQ²>dm§ Ed Xrnñ¶  
(iii) _________ hf©X§ ^d{V & ¶: OZ: (iv) _________ AZw^y¶ níMmV²  
(v) _________ ¶m{V, Vñ¶ (vi) _________ H$îQ>§ Vw Agø‘² Ed ^d{V & dñVwV: 
g:  (vii) _________ pñWV: A{n ‘¥V: Bd (viii) _________ & 

_ÄOyfm 

 

15. AYmo{b{IVñ` íbmoH$Û`ñ` àXÎmmÝd`o ‘ÄOyfmV: nX¡: [aŠVñWmZny{Vª H¥$Ëdm AÝd`§ nwZ: 
{bIV & 

 {ZåZ{b{IV Xmo íbmoH$m| Ho$ {XE JE AÝd`m| _| ‘ÄOyfm Ho$ nXm| go [aº$ ñWmZm| H$s ny{V© H$a 
AÝd` H$mo nwZ… {b{IE & 

 The prose-order-renderings of the following two verses have been given 

below. Fill in the blanks from the words given in the box and rewrite the 

same. 
2

1
 8=4  

(A) nÚ_² 

 g qH$gIm gmYw Z empñV ¶mo@{Yn‘², 
  {hVmÞ g§ûm¥UwVo g qH$ à^w: & 
 gXmZwHy$bofw {h Hw$d©Vo a{V‘², 
  Z¥noîd‘mË¶ofw M gd©gånX: && 
AÝd`… 

  ¶: (i) _______ gmYw Z empñV, g: qH$gIm, ¶: {hVmV² Z g§ûm¥UwVo g:  

(ii) _______ & Z¥nofw (iii) _______ M AZwHy$bofw {h (iv) ______ gXm aqV Hw$d©Vo & 

 AÝYH$ma‘², X[aÐVm‘², Xþ:Im{Z, Xþ:I‘², Ord{V, Xe©Z‘², {ZY©ZVm¶m:, earaoU  
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(~) nÚ_² 

 {dÚ‘mZm J{V: ¶ofm‘Ý¶Ìm{n gwImdhm &  
 Vo Z ní¶pÝV {dÛm§gmo Xoh^“§ Hw$bj¶‘² && 

AÝd`… 
  ¶ofm‘² (i) _________ {dÚ‘mZm (ii) _________ A{n J{V: ({dÚVo), Vo {dÛm§g:  

(iii) _________ Hw$bj¶§ Z (iv) _________ & 

_ÄOyfm 

 

16. AYmo{b{IVmZm§ ‘H$’ ñVå^ñ` dmŠ`m§emZm§ ‘I’ ñVå^ñ` dmŠ`m§e¡: gh gmW©H$gå_obZ§ H¥$Ëdm 
dmŠ`m{Z nwZ: {bIV & 

 {ZåZ{b{IV ‘H$’ ñVå^ Ho$ dmŠ`m§em| H$mo ‘I’ ñVå^ Ho$ dmŠ`m§em| Ho$ gmW gmW©H$ {_bmZ 
H$aHo$ dmŠ`m| H$mo nwZ: {b{IE & 

 Match the following sentences of column ‘H$’ with the suitable sentences 

of column ‘I’ and rewrite the same. 1 4=4  

       ‘H$’               ‘I’ 

(A) gË¶‘od O¶{V ZmZ¥V‘² (i) hþV§ M XÎm§ M gX¡d {VîR>{V & 

(~) Aa{jV§ {VîR>{V X¡da{jV‘² (ii) gË¶oZ nÝWm {dVVmo Xod¶mZ: & 

(g) Ob§ ObñWmZJV§ M ewî¶{V (iii) ¶WmÝYH$mam{Xd XrnXe©Z‘² & 

(X) gwI§ {h Xþ:ImÝ¶Zw^y¶ emo^Vo (iv)  gwa{jV§ X¡dhV§ {dZí¶{V & 

17. AYmo{b{IVofw dmŠ`ofw aoIm{‘>VnXmZm§ àg“mZwgma_² gmW©H$_² AWª {MËdm {bIV &  
                                                              (Ho$db§ àíZMVwîQ>`_²) 
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V eãXm| Ho$ àg§JmZwgma gmW©H$ AW© MwZH$a {b{IE &  
                                                                  (Ho$db Mma àíZ) 

 Select and write the appropriate meanings of the underlined words in the 

following sentences according to the context. (Only four questions) 1 4=4 

(A) C{ÎmîR>V OmJ¥V àmß¶ damZ² {Z~moYV & 

(i) loîR> ~«÷km{ZZ OZmZ² 

(ii) daXmZm{Z 

(iii) loîR>JwUmZ² 

 A‘mË¶ofw, A{Yn‘², qH$à^w:, AÝ¶Ì, gd©gånX:, ní¶pÝV, gwImdhm, Xoh^L²>J‘² & 
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(~) ào¶mZ² nwÊS>arH$-nQ>bñ¶ & 

(i) nrVnwîng‘yhñ¶ 

(ii) Am‘«g‘yhñ¶ 

(iii) ídoVH$‘bg‘yhñ¶  

(g) gXmZwHy$bofw {h Hw$d©Vo a{V‘² & 

(i) H$m‘XodnËZr‘² 
(ii) AZwamJ‘² 
(iii) ‘{V‘²  

(X) BXmZr‘ ² Efm JmoîR>r g‘m{ßV§ ¶m{V & 

(i) Jmoembm 
(ii) dmVm© 
(iii) g^m 

(`) XmZ§ lo¶ñH$a‘² B{V àË¶¶mV² Ed ‘‘mWm©: jrUm: OmVm: & 

(i) {dídmgmV² 
(ii) kmZmV² 
(iii) H$maUmV² 

IÊS…> K (SECTION D) 

^mJ II 

(PART II) 

gm_mÝ`… g§ñH¥$Vgm{hË`n[aM`… 

gm_mÝ` g§ñH¥$V gm{hË` n[aM` 

 General Introduction to Sanskrit Literature 10 A‘>m… 

18. (A) AYmo{b{IVofw H$ñ`m{n EH$ñ`  H$do: g§{jßV: n[aM`: g§ñH¥$VoZ boIZr¶: &  

  {ZåZ{b{IV _| go {H$gr EH$  H${d H$m g§{jßV n[aM` g§ñH¥$V _| {b{IE &  
 Write a brief note on any one poet of the following in Sanskrit. 5 

  ^ma{d:,  ^V©¥h[a:,  ^mg: &  

AWdm (OR) 
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  AYmo{b{IVofw dmŠ`ofw _ÄOyfmnXgmhmæ`oZ [aŠVñWmZm{Z nya{`Ëdm Vm{Z nwZ: {bIV & 

  {ZåZ{b{IV dmŠ`m| _| _ÄOyfm Ho$ nXm| H$s ghm`Vm go [aº$ ñWmZm| H$s ny{V© H$aHo$ CÝh| 
nwZ: {b{IE & 

 Fill in the blanks in the following, using the words from the box 

and rewrite the same. 
2

1
 10=5  

(i) N>ÝXmo‘wº$aMZm __________ H$Ï¶Vo & 

(ii) nÚgm{hË¶ñ¶ ^oXÛ¶§ ‘hmH$mì¶‘² __________ M & 

(iii) A{^Z¶: __________ àYmZ § VÎd‘² ApñV & 

(iv) N>ÝXmo¶wº$aMZm __________ H$Ï¶Vo & 

(v) JÚ§ H$drZm§ __________ dXpÝV & 

 (vi) ~mU^Å>: __________ {b{IVdmZ² & 

 (vii) JÚnÚ‘¶§ H$mì¶‘² __________ B{V H$Ï¶Vo & 

 (viii) A{^kmZemHw$ÝVb‘² __________ {b{IV‘² & 

 (ix) {dXÿfH$ ZmQ>Ho$ __________ OZ¶{V & 

 (x) {hVmonXoeñ¶ aM{¶Vm __________ ApñV & 

_ÄOyfm 

 
 

(~) g§ñH¥$VZmQ>H$mZm‘² AWdm Jr{VH$mì¶ñ¶ H$m: nÄM{deofVm: g§ñH¥$VoZ {bIV & 

 g§ñH¥$V ZmQ>H$m| H$s AWdm Jr{VH$mì¶ H$s {H$Ýht nm±M {deofVmAm| H$mo g§ñH¥$V _| 

{b{IE & 
 Write any five characteristics of Sanskrit Drama or ‘Jr{VH$mì¶’ in 

Sanskrit.  5 

ZmQ>H$ñ¶, JÚ‘², IÊS>H$mì¶‘², {ZH$f‘², H$mXå~ar‘², Zmam¶UnpÊS>V:, hmñ¶ag‘², 
nÚ‘², H$m{bXmgoZ, Måny: & 

 


